Choose the correct

L= our my your

He 2> her his my

She 2 his her its

It > their its his

We > your their our

They > its their our

You=> my our your

Choose the correct

Iam Tinaand thisis ____ cat.
a) her b)your c) my

They are pupils and these are ______ pens.
a) your b ) their c¢)our

He is Bill and thisis _____ car.
a) her b)his c)its

It isadogand thisis ____ toy.

a) his b)its c)her



She is Rosy and this is ____ dog.

I can

ran

run

a) his

a) his b) her

We are pupils and these are rulers.

a) your b)our c)their
This is dad and this is ____ rubber.
b) her

souim

swim




